



OFFICE OF THE CITY MANAGER



TO: Honorable Mayor and Members of the City Council

FROM: Patrick Urich, City Manager *Patrick Urich*

DATE: June 9, 2017

SUBJECT: Issues Update

The following are issues related to the City for the weekly Issues Update. If there are additional items you believe should be included, please let me know.

Pick Up Peoria—Monday Lunch Time Litter Pick Up

LUNCHTIME LITTER COLLECTION WILL MEET IN FRONT OF CITY HALL ON MONDAY, JUNE 12 at NOON.

Community Development—Save the Date

On Thursday, November 30th, the City of Peoria will host the 2017 Neighborhood Banquet at the Peoria Civic Center from 6:00 - 8:30 p.m. This annual event celebrates the accomplishments of neighborhood associations and community advocates who have worked diligently with their neighbors, the City of Peoria, and the community at large to improve the quality of life in their communities.

The banquet is a time for neighbors from all across the City to gather and share the things that make us all “Appreciate Peoria”.

Please join us for an evening of music, food, and fun to celebrate local leaders who work hard to improve our community. We will open nominations for the many awards and information on ticket sales early Fall 2017.

For more information, please call Neighborhood Enhancement Coordinator, Raven Fuller, at 309.494-8636.

Community Development—East Bluff Home Undergoes Transformation

Peoria, IL (June 9, 2017) The Community Development Department acquired 2310 N Maryland through a Judicial Deed after a demolition order was placed on the property and the property was declared

abandoned. While the structure met the criteria to be demolished, an interior inspection was conducted by a Building Inspector and found no substantial structural damage to the house. The demolition of this property would have resulted in the first vacant lot on the street.

The Community Development Department issued a Request for Proposals, requesting individuals to purchase the property and rehab it within one year. Two responses were received. East Bluff resident Steve Sanchez submitted the winning proposal with his \$3,300 bid. Since the sale of the property, Mr. Sanchez renovated the house. The photos below, courtesy of Steve Sanchez, document the completed rehab.

Four RFPs for the rehab of City owned houses have been released in the past two years. The rehab of these houses remove a blighting influence on the neighborhood and also increases public safety. Vacant structures can be a location for criminal activity. The RFPs require the purchaser to use licensed electricians, plumbers and HVAC companies and also complete the work within one year of purchase.

It is the Community Development Department's intent that more houses can be renovated and saved from demolition by issuing RFPs. For more information on City owned houses, please contact Land Manager Eric Setter at 309-494-8627 or esetter@peoriagov.org.

Please see the attached release for photos

Community Development—Paint Program

Applications for the Paint Program Project are now available to Peoria homeowners who would like paint for exterior improvement projects. Each property is eligible for 20 gallons of exterior paint, available in 5 gallon increments. The homeowner must provide labor, painting materials and other items necessary to complete the project. Paint will be provided until the funding is no longer available.

A list of requirements are below.

Homeowner Guidelines

- The City will only provide paint. Homeowner must provide labor, painting materials, and other items to complete the project.
- In order to ensure a reasonable degree of quality, prep work is required. Homeowner is responsible for completing this work prior to painting. City staff are available to provide guidance and feedback in regards to prep work. Vouchers will not be issued until prep work is completed.

FINANCIAL GUIDELINES

- Residents who are at 80% or below median income can participate in the program.

Property Guidelines

- Property must be single family residential.
- Property taxes must be current.
- Property must be owner occupied. (No rental or contract for deed properties.)
- Property must be insured. Homeowner is responsible for providing proof of

current homeowner's insurance.

- Property must be clear of all environmental violations.

Applications are available at: <http://appreciatepeoria.com/opportunities/> or City Hall, 419 Fulton Street, Room 300. For more information on this program and please contact Terence Acquah at 494-8940 or tacquah@peoriagov.org

Community Development Alley Light Program

The City of Peoria Community Development Department is happy to announce applications are now available to Peoria homeowners who want a dusk-to-dawn alley light installed on their house or garage. Funding is limited to the installation of 80 lights. Although there are no fees required for the residents who apply for the lights, those who receive the lights will be responsible for the care and maintenance of the light after installation. The alley light, which will be hardwired to an existing electrical system from a house or a garage, features a 20-watt fluorescent bulb encased in a metal wall unit with a heavy duty light cover.

To qualify for consideration, the applicant must not have participated in previous alley lighting programs. In addition, the property must be owner occupied and the property owner must not owe any fines or fees to the City of Peoria.

The Alley Light Program is one of the many programs and projects offered by the Community Development Department aimed at improving neighborhoods, reducing blight and improving quality of life issues for residents.

Alley Light Applications are available at: <http://appreciatepeoria.com/opportunities/> or City Hall, 419 Fulton Street, Room 300. For more information on this program and please contact Terence Acquah at 494-8940 or tacquah@peoriagov.org.

Innovation Team – Public Survey to Inform Civic Hackathon

The City of Peoria's Innovation Team (i-team) is seeking input and opinion on hosting a "Civic Hackathon" event structured around the promotion of Open Data in the City of Peoria.

A Hackathon brings together individuals throughout the community with a desire to improve their community with others that share a similar ambition. Gatherings typically involve a day or two long event during which participants are tasked with creating a web or mobile application that positively impacts residents of the city. Although hackathons tend to be technology centered, as they focus on the coding and manipulation of data, this event is open to all community members wanting to be a part of something new and exciting in the Peoria community.

This survey should take no more than three minutes to complete:

Issues Update
June 9, 2017

<https://www.surveymonkey.com/r/peoriacivichack>



Peoria Police Department—See Attached

- Moss Avenue Sale
- Over The Edge

Peoria Fire Department-Salvation Army Provides Act of Kindness

On Friday June 2, 2017, Benny Benedict the Salvation Army Divisional Disaster Services Assistant Director, along with April Gould, Lindsey Reck and Hosanna Perhay showed their appreciation to members of the Peoria Fire Department by honoring these public servants with donuts.



This tribute was in recognition of the “Salvation Army National Donut Day” which is celebrated on the first Friday in June annually.

National Donut Day began in 1938 as a means to assist citizens during the great depression, and reflect on the charitableness of the Salvation Army members that served donuts to soldiers during World War I. The members would additionally provide writing supplies, stamps and clothing mending services.

Due to the generosity of the Salvation Army, all twelve Peoria Fire Stations were honored with this token of appreciation.



Peoria Public Schools—Update from Superintendent Desmoulin-Kherat

Peoria Public School students are busy this summer!

The Peoria Public Schools Summer School program, operating at Glen Oak Community Learning Center, Harrison Community Learning Center, Thomas Jefferson Primary School and Knoxville Center for Student

Issues Update

June 9, 2017

Success welcomed over 500 students this week. This is the first year the district has offered a full-day summer school program and the enthusiastic response from parents is exciting. We know that teachers often spend several weeks at the beginning of the school year reviewing material and fighting students' summer-slide. Our summer school students will return for their next school year in August well-prepared to move forward in their learning.

Summer school offers a more relaxed learning atmosphere and a chance to try new instructional activities. For example, students are spending time learning to write code and piloting a new computer-based learning program in English/language arts and math. Science teachers are planning hands-on, experiential programs. We also offer a program at Glen Oak Community Learning Center for English language learners.



For the K-8 students, while mornings are for academics, afternoons are filled with sports, the fine arts and field trips.

Summer can be a struggle for working parents and the cost of camps creates a financial burden. The Peoria Public Schools Summer School program gives parents a wonderful alternative at no charge.

At Knoxville Center for Student Success, high school students are attending summer school to make up missing credits. Falling behind in high school credits is a common reason students drop out before graduation. The summertime opening of Knoxville Center for Student Success helps students catch up so they will graduate with their class.

A group of rising 9th grade students will gather at Peoria High School this summer for an innovative new program focusing on Social Emotional Learning. W.I.N.N.I.N.G. -- What I Need Now In Ninth Grade -- will prepare students for high school by giving them social and emotional instruction, introducing them to the concept of high school credits, the curriculum pathways available and touring their high school buildings.

Throughout the summer these students also will be exposed to a variety of college and career opportunities. Peoria-area professionals from a variety of fields will give presentations on their careers. W.I.N.N.I.N.G. program students will tour college campuses and local businesses including Caterpillar, Methodist College, the

City of Peoria City Hall and public works department, Excel Foundry, the WMBD studios, union trade facilities and more.



At the end of the summer, each W.I.N.I.N.G. student will be paired with an adult mentor to provide ongoing support, encouragement, progress monitoring and role modeling throughout their high school years. Those mentors met with parents this week for training provided by the United Way.

Finally, 22 Peoria Public School high school students began working for the City of Peoria as part of the 2017 Mayor's Youth Program. The eight-week program employs Peoria area youth to assist in infrastructure improvements, beautification and clean-up projects. Students also learn about the work of various city departments and public sector career opportunities. One day each week is devoted to developing workplace and life skills, learning about personal finance, taking tours and planning for post-high-school education and careers. Four of the 22 students are returning for the second year and will serve as leaders and mentors for their peers. The Mayor's Youth Program is a collaboration between the Peoria Public Schools, the City of Peoria and the Greater Peoria Economic Development Council (EDC).

As we enter the second full week of summer break, I want to remind parents to keep encouraging their students to read at least 30 minutes a day, four days a week. Building a love of reading is essential for your child to succeed in school. For kindergarten through 8th grade students, the Remarkable Readers program asks students to keep track of the books they are reading to be entered into a raffle drawing and be recognized at a Board of Education meeting in September.

Serve Passionately,

Dr. Sharon Desmoulin-Kherat, Superintendent

Code Violation Cases

Please see attached.

Development Review Board Agenda

Please see attached.

ECC Monthly Reports

Please see attached.

Housing Court Cases

Please see attached.



FOR IMMEDIATE RELEASE

Contact: Eric Setter, Land Manager
Phone: 309/494-8627
Email: esetter@peoriagov.org

2310 N Maryland Street Undergoes Transformation

Peoria, IL (June 9, 2017) The Community Development Department acquired 2310 N Maryland through a Judicial Deed after a demolition order was placed on the property and the property was declared abandoned. While the structure met the criteria to be demolished, an interior inspection was conducted by a Building Inspector and found no substantial structural damage to the house. The demolition of this property would have resulted in the first vacant lot on the street.

The Community Development Department issued a Request for Proposals, requesting individuals to purchase the property and rehab it within one year. Two responses were received. East Bluff resident Steve Sanchez submitted the winning proposal with his \$3,300 bid. Since the sale of the property, Mr. Sanchez renovated the house. The photos below, courtesy of Steve Sanchez, document the completed rehab.

Four RFPs for the rehab of City owned houses have been released in the past two years. The rehab of these houses remove a blighting influence on the neighborhood and also increases public safety. Vacant structures can be a location for criminal activity. The RFPs require the purchaser to use licensed electricians, plumbers and HVAC companies and also complete the work within one year of purchase.

It is the Community Development Department's intent that more houses can be renovated and saved from demolition by issuing RFPs. For more information on City owned houses, please contact Land Manager Eric Setter at 309-494-8627 or esetter@peoriagov.org.





PEORIA POLICE DEPARTMENT



FOR IMMEDIATE RELEASE

June 7, 2017

For More Information: Contact Officer Amy Dotson – PIO – 309-620-2047

Moss Avenue Sales

Peoria, IL - Saturday, June 10, 2017, the Moss Bradley Residential Association will sponsor the annual Moss Avenue Sales. There will be vendors set up on the sidewalk and the street in the 1100-1800 blocks of Moss Avenue from 7:00am – 4:00pm.

If you will be traveling in the area of Moss Avenue, please be aware of increased pedestrian traffic.

PEORIA POLICE DEPARTMENT



FOR IMMEDIATE RELEASE

June 7, 2017

For More Information: Contact Officer Amy Dotson – PIO – 309-620-2047

Over the Edge

Peoria, IL - Saturday, June 10, 2017, Peoria Friendship House of Christian Service will conduct a special event at the Chase Bank building on Hamilton Street. Starting at 8am, participants in the event will repel off the building to a landing spot on Hamilton Street. There will be vendors set up on the sidewalk and the street.

Hamilton Street will be shut down at Madison and at Jefferson.

Impacted intersections are as follows (approximately 8:00am – 5:00pm):

- Hamilton & Madison
- Hamilton & Jefferson

If you will be traveling in the downtown area, please be aware of increased pedestrian traffic.

LEGAL	CODE	DEFENDANT	PROPERTY ADDRESS	FINE	OFFENSE	INSP.	STATUS
17-CV-0813	17-6037	AICHER, JESSE	2910 N MISSION RD	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	PM	DISMISSED
17-CV-0814	17-6412	ALEXANDER, ANIKA	306 S SARATOGA	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0920	17-6672	ANDRADA, WILMER	1010 N FLORA AVE	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	NR	
17-CV-0815	17-6214	ARENDS, MIKE	2306 N UNIVERSITY	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0816	17-6409	AVILES, EDGAR	2021 W WISWALL ST	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0921	17-5791	BANKS, GREG	719 SPRING ST	\$ 50.00	13-102 DAMAGED OR INOPERABLE MV PROHIBITED	TD	
17-CV-0817	17-6355	BANKS, MICHAEL	2804 W ANTOINETTE ST	\$ 300.00	5-521 REGISTRATION REQUIRED	KG	
17-CV-0900	17-6656	BARRETT, CAROL	1217 N FLORA AVE	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	NR	
17-CV-0922	17-6825	BELLEMEY, CHARLES (TRUST) C/O KATHY BELLEMEY	2201 W HOWETT ST	\$ 50.00	13-37 STORAGE OR ACCUM OF LITTER AND/OR MV PARTS	LA	
17-CV-0923	17-6673	BERRY, PAULA	23111 N PEORIA AVE	\$ 50.00	13-37 STORAGE OR ACCUM OF LITTER AND/OR MV PARTS	AM	
17-CV-0408	17-3416	BILLS, DEBRA & DAVID	1015 N SUMMIT BLVD	\$ 300.00	5-521 REGISTRATION REQUIRED	KG	CONTINUED
17-CV-0901	17-6446	BLACKORBY, RYAN & JENNIFER	2913 N ROCKWOOD DR	\$ 300.00	5-521 REGISTRATION REQUIRED	KG	DISMISSED
17-CV-0818	17-6112	BLEULL, ANTHONY	308 W MAYWOOD AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0902	17-6469	BRADLEY UNIVERSITY	1509 W FREDONIA AVE	\$ 100.00	13-41 DUMPING OR THROWING OF LITTER	NR	
17-CV-0903	17-5710	BROWN, DENNIS	720 W MACQUEEN AVE	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	PM	
17-CV-0924	17-6796	BROWN, JACOB	1302 S FARADAY	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	LA	
17-CV-0925	17-7107	BYRD, LORETTA	1901 N PEORIA AVE	\$ 100.00	13-77 GROWTH OF WEEDS PROHIBITED	AM	
17-CV-0819	17-5847	CATCHINGS, EDWARD	1813 N SHERIDAN RD	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	PM	
17-CV-0765	17-5741	CAT-MAN-DO PROPERTIES LLC	312 E ARCADIA AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	KG	
17-CV-0820	17-6303	CHATFIELD, ERIC	6235 N HAMILTON RD	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0821	17-6277	COATES, ANTHONY & BRENDA	7307 N OXFORD PL	\$ 300.00	5-521 REGISTRATION REQUIRED	KG	
17-CV-0822	17-4879	COHEN, JEFF	1619 N BESTOR	\$ 50.00	13-37 STORAGE OR ACCUM OF LITTER AND/OR MV PARTS	PM	
17-CV-0926	17-6906	COHEN, JEFF SCHIESEL, KAREN	1828 N SHERIDAN	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	TD	
17-CV-0823	17-6204	CONTRERAS, MOICES	1724 N BROADWAY ST	\$ 300.00	5-521 REGISTRATION REQUIRED	KG	
17-CV-0824	17-6113	COX, CHARLES	312 S SARATOGA ST	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0927	17-6493	CROWE, CATHERINE	2003 N ELLIS ST	\$ 50.00	13-102 DAMAGED OR INOPERABLE MV PROHIBITED	TD	
17-CV-0793	17-5833	DEMANES, LYNNETTE	1531 W BARKER AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	KG	CONTINUED
17-CV-0488	17-3233	DEWITTE, MICHAEL	1910 N ASHLEY CT	\$ 50.00	13-102 DAMAGED OR INOPERABLE MV PROHIBITED	PM	CONTINUED
17-CV-0825	17-6373	DONALD, JAMES & TONELL	2120 N GALE AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	KG	
17-CV-0826	17-5845	EAKLE, JOHN	1817 N SHERIDAN	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	PM	
17-CV-0827	17-5284	EAKLE, JOHN	1815 N MACHIN	\$ 100.00	13-77 GROWTH OF WEEDS PROHIBITED; 13-102 DAMAGED OR INOPERABLE MV PROHIBITED	PM	
17-CV-0928	17-6980	EAST BLUFF NEIGHBORHOOD HOUSING SERVICES, INC.	719 E ILLINOIS AVE	\$ 100.00	13-37 STORAGE OR ACCUM OF LITTER AND/OR MV PARTS; 13-77 GROWTH OF WEEDS PROHIBITED	AM	
17-CV-0828	17-6208	ESPINOZA, CESAR	1126 W WILLCOX AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0829	17-6210	ESPINOZA, CESAR	1700 N VALLEY AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0830	17-6211	ESPINOZA, CESAR	2022 N GALE AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0561	17-4336	ESTRADA, FERNANDO	1710 S ARAGO ST	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	CONTINUED
17-CV-0614	17-5087	FIRST PEKIN SAVINGS BANK	2113 N SHERIDAN RD	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	DEFAULT
17-CV-0831	17-6322	FISCHER, PHYLLIS	808 W GIFT AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	DISMISSED

LEGAL	CODE	DEFENDANT	PROPERTY ADDRESS	FINE	OFFENSE	INSP.	STATUS
17-CV-0832	17-6205	FORD, DANIEL	700 HOMESTEAD AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0833	17-6207	FORD, DANIEL	3525 NE MADISON AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0834	17-5122	FREDERICKS, ROBERT	907 W MACQUEEN AVE	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	PM	
17-CV-0835	17-6206	FREDERICKS, ROBERT	1010 W THRID ST	\$ 300.00	5-521 REGISTRATION REQUIRED	KG	
17-CV-0904	17-6465	GAIN, JOSEPH	2827 W LARCHMONT	\$ 300.00	5-521 REGISTRATION REQUIRED	KG	
17-CV-0836	17-6213	GARCIA, MAYRA	701 E VIRGINIA AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0617	17-4978	GRUBBS, ROBERT (ESTATE)	2907 N SHERIDAN RD	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0837	17-6302	GRUTTER, KEENAN	2133 N LINN ST	\$ 300.00	5-521 REGISTRATION REQUIRED	KG	
17-CV-0838	17-6408	GULLEY, RON	5706 N GRACELAND	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0839	17-6116	HARRIS, ROOSEVELT &	1017 N FRINK ST	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0840	17-6117	HARRIS, ROOSEVELT &	1816 N MACHIN AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0905	17-6486	HOWARD, PATRICK	1814 W BRADLEY AVE	\$ 100.00	13-77 GROWTH OF WEEDS PROHIBITED	NR	
17-CV-0906	17-6128	ISAACS, JULIAN	1229 W BRONS AVE	\$ 100.00	13-37 STORAGE OR ACCUM OF LITTER AND/OR MV	PM	
17-CV-0841	17-6019	JOHNSON, MARGUERITE	901 W BRONS AVE	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	PM	
17-CV-0929	17-6991	JOSEPH, DEBBIE	301 E REPUBLIC ST	\$ 100.00	13-77 GROWTH OF WEEDS PROHIBITED	AM	
17-CV-0907	17-6464	KAJA HOLDINGS, LLC	1418 N AMBER PL	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	NR	
17-CV-0775	17-5781	LANCASTER, DAVID	1318 E ROUSE AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	KG	CONTINUED
17-CV-0842	17-6390	LANGENSTEIN, TIMOTHY	1914 W ANN ST	\$ 300.00	5-521 REGISTRATION REQUIRED	KG	
17-CV-0908	17-6424	LAWSON, ROBERT	1700 W MILLMAN ST	\$ 150.00	13-37 GROWTH OF WEEDS PROHIBITED; 13-77 STORAGE OR ACCUM OF LITTER AND/OR MV PARTS; 13-102 DAMAGED OR INOPERABLE MV PROHIBITED	KS	
17-CV-0843	17-6407	LEE, SUSAN	5028 N CIRCLE CT	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0909	17-5680	LEMIEUX, NANCY & WILLIAM	1103 N MAPLEWOOD AVE	\$ 500.00	13-77 GROWTH OF WEEDS PROHIBITED	NR	
17-CV-0844	17-6361	LENNARD, IAN & KIMBERLY	1505 NE MADISON AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	KG	
17-CV-0845	17-6415	LIANG, QIYU	7020 N VAUXHALL PL	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0845	17-6415	LIANG, QIYU	7020 N VAUXHALL PL	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0930	17-6614	LIQUORI, MICHAEL K	1712 N LINN ST	\$ 50.00	13-102 DAMAGED OR INOPERABLE MV PROHIBITED	TD	
17-CV-0846	17-6317	LOWE, JIMMY	815 E ARCHER AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0847	17-6318	LOWE, JIMMY	1420 NE MADISON AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0848	17-6319	LOWE, JIMMY	901 E REPUBLIC ST	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0931	17-6815	MACH, PETE & SAM	1110 N FRINK ST	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	NR	
17-CV-0932	17-6986	MARTIN, DEBRA K.	314 E FRYE AVE	\$ 100.00	13-77 GROWTH OF WEEDS PROHIBITED	AM	
17-CV-0910	17-6664	MCCOY, DERRICK	1308 N BIGELOW ST	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	NR	
17-CV-0933	17-6821	MCGOWAN, JESSIE	2223 W HOWETT ST	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	LA	
17-CV-0849	17-5551	MEIER, DEBORAH & JERRY	2209 NE JEFERSON AVE	\$ 100.00	13-37 STORAGE OR ACCUM OF LITTER AND/OR MV PARTS; 13-77 GROWTH OF WEEDS PROHIBITED	MB	
17-CV-0850	17-6306	MESSIAH PROPERTIES, LLC	1112 NE GLENDALE AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0851	17-6311	MESSIAH PROPERTIES, LLC	307 E ILLINOIS AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0852	17-5846	MITCHELL TRUST	1815 N SHERIDAN RD	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	PM	DISMISSED
17-CV-0853	17-6199	MONTEJANO, AMEZCUA DEJESUS, MARIA	1626 S LIVINGSTON ST	\$ 200.00	13-102 DAMAGED OR INOPERABLE MV PROHIBITED	LA	
17-CV-0854	17-6118	MOORE, JOSEPH & TESSIE	1707 N PEORIA AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0934	17-7010	MOORE, QUINTANYA	501 E ARCHER AVE E	\$ 100.00	13-77 GROWTH OF WEEDS PROHIBITED	AM	4

LEGAL	CODE	DEFENDANT	PROPERTY ADDRESS	FINE	OFFENSE	INSP.	STATUS
17-CV-0855	17-5477	NEWMAN, NICHOLE	5704 N WESTERN AVE	\$ 50.00	13-37 STORAGE OR ACCUM OF LITTER AND/OR MV PARTS	DG	
17-CV-0856	17-5510	NOTT, SANDRA & DAVID	3005 NE MADISON AVE	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	MB	
17-CV-0857	17-6360	OKPARA II LP C/O PCCEO	207 N WEBSTER ST	\$ 300.00	5-521 REGISTRATION REQUIRED	KG	DISMISSED
17-CV-0858	17-6358	OKPARA II LP C/O PCCEO	217 N SARATOGA ST	\$ 300.00	5-521 REGISTRATION REQUIRED	KG	DISMISSED
17-CV-0935	17-6658	O'NEAL, KWAN	515 W VIRGINIA AVE	\$ 50.00	13-102 DAMAGED OR INOPERABLE MV PROHIBITED	TD	
17-CV-0911	17-5035	OVERTURF, LINDA & DAVID	904 W SHENANDOAH DR	\$ 50.00	13-102 DAMAGED OR INOPERABLE MV PROHIBITED	LE	
17-CV-0859	17-6410	PARKER, FLORIDA	1503 NE PERRY AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0860	17-5849	PENELTON, BARBARA (ESTATE)	1809 N SHERIDAN RD	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	PM	
17-CV-0861	17-5512	PEORIA 45 LLC	2511 NE ADAMS S T	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	MB	
17-CV-0862	17-4732	PEORIA HOUSING AUTHORITY ATTN: EXECUTIVE OFFICE	900 NE MADISON AVE	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	MB	
17-CV-0863	17-6222	PEORIA HOUSING AUTHORITY ATTN: EXECUTIVE OFFICE	1101 W MILLMAN ST	\$ 100.00	13-37 STORAGE OR ACCUM OF LITTER AND/OR MV PARTS; 13-77 GROWTH OF WEEDS PROHIBITED	KS	
17-CV-0912	17-5830	PHOENIX PROPERTIES ATTN: SUSAN WIEBLER	510 E ILLINOIS AVE	\$ 50.00	13-37 GROWTH OF WEEDS PROHIBITED; 13-39 RESPONSIBILITY FOR PROVISION OF LITTER CONTAINERS; 13-40 PLACEMENT OF LITTER CONTAINERS	AM	
17-CV-0913	17-6450	PHOENIX PROPERTIES ATTN: SUSAN WIEBLER	322 E THRUSH AVE	\$ 50.00	13-39 RESPONSIBILITY FOR PROVISION OF LITTER CONTAINERS; 13-40 PLACEMENT OF LITTER CONTAINERS; 13-41 DUMPING OR THROWING OF LITTER; 13-77 GROWTH OF WEEDS PROHIBITED	AM	
17-CV-0936	17-7017	PHOENIX PROPERTIES ATTN: SUSAN WIEBLER	209 E ILLINOIS AVE	\$ 200.00	13-37 STORAGE OR ACCUM OF LITTER AND/OR MV PARTS; 13-77 GROWTH OF WEEDS PROHIBITED	AM	
17-CV-0937	17-6771	PIONEER CIVIC SERVICES, INC.	1211 N FRINK ST	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	NR	
17-CV-0864	17-6368	POWERS, BRIDGET	1502 N MISSOURI VE	\$ 300.00	5-521 REGISTRATION REQUIRED	KG	
17-CV-0865	17-6263	POWERS, ROBERT & BRIDGET	266 NE RANDOLPH AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	KG	
17-CV-0866	17-6216	PRECIADO, DEMETRIO	3120 NE MADISON AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0867	17-6217	PRECIADO, DEMETRIO	1318 N SHERIDAN RD	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0868	17-6219	PRECIADO, DEMETRIO	2201 N FLORA AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0869	17-6218	PRECIADO, DEMETRIO	1322 N SHERIDAN RD	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0870	17-6288	PURIFOY, LATOIYA	710 W MACQUEEN AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	KG	
17-CV-0938	17-7067	RANDLE, AUNDRE	604 E MCCLURE AVE	\$ 200.00	13-77 GROWTH OF WEEDS PROHIBITED	AM	
17-CV-0628	17-5080	RANDLE, LAVAE	301 N CHARLTON ST	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	CONTINUED
17-CV-0629	17-5081	RANDLE, LAVAE	721 S WARREN ST	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	CONTINUED
17-CV-0630	17-5083	RANDLE, LAVAE	1220 JOHN H GWYNN JR AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	CONTINUED
17-CV-0631	17-5084	RANDLE, LAVAE	1303 W SMITH ST	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	CONTINUED
17-CV-0632	17-5079	RANDLE, LAVAE	1021 W ADRIAN G HINTON JR AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	CONTINUED
17-CV-0871	17-6416	REBMANN, JILLIAN	1024 W GIFT AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	DISMISSED
17-CV-0915	17-6463	REGIONS BANK	1001 W COLUMBIA TERR	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	NR	
17-CV-0942	17-7007	ROBERTS, CHASE	415 E ARCHER AVE	\$ 100.00	13-77 GROWTH OF WEEDS PROHIBITED	AM	
17-CV-0872	17-6104	ROBINSON, PATRICK	2716 W LATROBE ST	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	LA	
17-CV-0873	17-6321	RODRIGUEZ, KEVIN	2704 W MARQUETTE AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	5

LEGAL	CODE	DEFENDANT	PROPERTY ADDRESS	FINE	OFFENSE	INSP.	STATUS
17-CV-0637	17-5086	RODRIGUEZ, TERESA AVINA	2000 N ATLANTIC AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	CONTINUED
17-CV-0939	17-7237	ROE, GARY	809 W MCCLURE AVE	\$ 500.00	13-102 DAMAGED OR INOPERABLE MV PROHIBITED	TD	
17-CV-0874	17-6315	SANANY PROPERTY, LLC	903 N WESTERN AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0875	17-5713	SARROS EXCAVATING	818 W MACQUEEN AVE	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	PM	
17-CV-0876	17-6108	SCHMILLEN, LEONARD	1004 N INSTITUTE PL	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0877	17-6115	SCHMILLEN, LEONARD	214 W ARMSTRON AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0878	17-6320	SCHOENBEIN, MICHELE	712 VINE ST	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0879	17-5550	SCHUMACHER, LLOYD	2411 NE ADAMS ST	\$ 100.00	13-77 GROWTH OF WEEDS PROHIBITED	MB	
17-CV-0916	17-6482	SCHUMACHER, LLOYD	1330 N BROADWAY ST	\$ 300.00	5-521 REGISTRATION REQUIRED	KG	
17-CV-0917	17-6488	SCHUMACHER, LLOYD	1539 W BUTLER	\$ 300.00	5-521 REGISTRATION REQUIRED	KG	
17-CV-0461	17-3680	SEAMAN, KELLY & ERIC	112 E GIFT AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	KG	CONTINUED
17-CV-0880	17-4814	SEEGERS, TYTESHA	901 E ELEANOR PL	\$ 500.00	13-37 STORAGE OR ACCUM OF LITTER AND/OR MV PARTS; 13-77 GROWTH OF WEEDS PROHIBITED	PM	
17-CV-0881	17-5549	SFCD LIMITED PARTNERSHIP	2409 NE ADAMS ST	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	MB	
17-CV-0882	17-5548	SFCD LIMITED PARTNERSHIP	2407 NE ADAMS ST	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	MB	
17-CV-0883	17-5546	SFCD LIMITED PARTNERSHIP	2401 NE ADAMS (TAX ID 1435358012)	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	MB	
17-CV-0884	17-5517	SHARP, ALLISON	2803 N SHERIDAN RD	\$ 500.00	13-102 DAMAGED OR INOPERABLE MV PROHIBITED	PM	
17-CV-0885	17-6391	SHEA, TIMOTHY	2329 W MALONE ST	\$ 300.00	5-521 REGISTRATION REQUIRED	KG	
17-CV-0886	17-6284	SMITH, GREG	405 ABINGTON ST	\$ 300.00	5-521 REGISTRATION REQUIRED	KG	
17-CV-0887	17-6238	SMITH, GREG	3513 SW ADAMS ST	\$ 300.00	5-521 REGISTRATION REQUIRED	KG	
17-CV-0888	17-5603	SMITH, RODNEY	1618 N BROADWAY ST	\$ 50.00	13-37 STORAGE OR ACCUM OF LITTER AND/OR MV PARTS	PM	
17-CV-0940	17-5608	SPECIALE, MARCIA	811 NE MONROE AVE	\$ 100.00	13-77 GROWTH OF WEEDS PROHIBITED	AM	
17-CV-0889	17-6352	STEWART-BANKS, NOEL BANKS, MICHAEL	2919 W STARR	\$ 300.00	5-521 REGISTRATION REQUIRED	KG	
17-CV-0786	17-5834	STORTZ, DAVID	2016 W WILSON AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	CONTINUED
17-CV-0890	17-6119	SULLIVAN, JESSICA	3222 N EL VISTA	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0891	17-6403	SWEARINGEN, MARGARET	220 E FRYE AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	DISMISSED
17-CV-0893	17-5844	TOMLINSON, WAYNE	1821 N SHERIDAN	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	PM	
17-CV-0894	17-6406	TOMPKINS, LINDA	3808 N UNIVERSITY ST	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0941	17-6884	TRAMMELL, VIOLET	2300 N BIGELOW	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	TD	
17-CV-0895	17-4971	TRAN, LOUN	3021 N VICTORIA AVE	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	PM	
17-CV-0896	17-6114	TURNKEY HOME	9332 N PINE TREE RD	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	
17-CV-0892	17-5598	TXO PROPERTIES, LLC	619 NE ROCK ISLAND	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	KS	
17-CV-0918	17-6478	VATTIJONNALA, VENKATA	1816 W CALLENDER AVE	\$ 200.00	13-41 DUMPING OR THROWING OF LITTER	NR	
17-CV-0919	17-6472	VIP INVESTMENTS OF PEORIA LLC C/O	1808 W FREDONIA AVE	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	NR	
17-CV-0897	17-6215	WATSON, L.C.	412 E THRUSH AVE	\$ 300.00	5-521 REGISTRATION REQUIRED	JR	DISMISSED
17-CV-0920	17-6672	WILDENRADT, DANEN	1010 N FLORA AVE	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	NR	
17-CV-0899	17-5095	WITT, DANIEL	1016 W BRONS AVE	\$ 50.00	13-77 GROWTH OF WEEDS PROHIBITED	PM	

146 CASES TOTAL



DEVELOPMENT REVIEW BOARD AGENDA

Plans Distributed: June 7, 2017

Comments Due: June 14, 2017

Building/Projects this Week

Job/Project #	Address	Type	Description
17-761	530 NE GLEN OAK AVE 18-04-403-010	Commercial Alterations	Interior Remodel, Conference Room 1314 – OSF – Council District 3 – RM/ST
17-763	10408 N CENTERWAY DR 09-29-378-005	Commercial Alterations	Interior Fit Out, Restaurant – Dominos – Council District 5 – BD/LA
17-766	530 NE GLEN OAK AVE 18-04-403-010	Commercial Alterations	Interior Remodel, Gerlach Surgery – OSF – Council District 3 – RM/ST
17-777	2627 W TOWNLINE RD 09-31-300-016	Commercial Alterations	Interior Remodel and Exterior Alteration of Garden Center – Menards – Council District 5 – CF/LA
17-778	10408 N CENTERWAY DR 09-29-378-005	Commercial Alterations	Interior Alteration, Demising Wall – Dominos – Council District 5 – BD/LA
17-792	416 NE JEFFERSON AVE 18-09-233-006	Commercial Alterations	Exterior Alterations – Salvation Army – Council District 1 – SW/KS
Project 17-69	4115 W PARTRIDGE WAY 13-12-352-007	PZ Commission – Special Use	Amend Special Use, Add Restaurant with a Drive-Thru – Taco Bell – Council District 4 - LA
Project 17-92	W GRANGE HALL RD 08-35-100-033	PZ Commission - Annexation	Annexation Petition and Annexation Agreement, a Preliminary Subdivision Plat, to Rezone property to C-1, and Special Use for Outdoor Recreation – Council District 5 - JN
Project 17-95	1816 N NEW YORK AVE 18-04-227-007	PZ Commission – Plat Admin	Preliminary and Final Plat – Council District 3 - ST
Project 17-96	1205 E KANSAS ST 14-34-381-013	PZ Commission – Plat Admin	Preliminary and Final Plat – Council District 3 - ST
Project 17-97	2201 N DELAWARE AVE 14-34-308-030	PZ Commission – Plat Admin	Preliminary and Final Plat – Council District 3 - ST
Project 17-98	10103 10105 N BROMPTON CT 09-31-208-003	PZ Commission – Plat Admin	Preliminary Plat – Council District 5 - LA

Building Permits Issued

Commercial		Residential	
Commercial Addition	-	New Deck	7
Commercial Alteration	6	New Garage	5
Commercial Demolition	-	Residential Repair	4
Electrical	2	Electrical	7
HVAC	1	HVAC	23
Plumbing	-	Plumbing	4

	Council District 1	Council Districts 2 and 3	Council Districts 4 and 5	Mile and ½
Planning Inspector	Kimberly Smith	Shannon Techie	Leah Allison	Josh Naven
Phone	494-8612	494-8649	494-8667	494-8657
E-mail	ksmith@peoriagov.org	stechie@peoriagov.org	lallison@peoriagov.org	jnaven@peoriagov.org
Building Inspector	Scot Wolf	Roberto Medina	Bill Dodd	
Phone	494-8628	494-8623	494-8653	
E-mail	swolf@peoriagov.org	rmedina@peoriagov.org	wdodd@peoriagov.org	
			Chris Frank	
			494-8633	
			cfrank@peoriagov.org	
			Dan Moran	
			494-8629	
			dmoran@peoriagov.org	



DEVELOPMENT REVIEW BOARD AGENDA

Plans Distributed: June 7, 2017
 Comments Due: June 14, 2017

Certificates of Occupancy Issued

Address/Location	Business Name	Date Issued	CD
800 NE Glen Oak Ave	OSF Healthcare, 4 th Floor Patient Rooms	06/01/2017	3
1208 W Glen Ave	T-Mobile	06/01/2017	3
9802 N Herriot	Meadowbrook Veterinary Clinic	06/01/2017	5
7719 N Grand Prairie Dr	Liquid Glamour Nails	06/05/2017	5
10322 N Centerway	Starcrest Cleaners/College Nannies + Tutor	06/02/2017	5

FOR YOUR INFORMATION ONLY

The following information was provided by the **Community Development Department** and the **Peoria City/County Health Department**. This section is not intended for your review; the intent is to provide additional information.

Community Development Department

Total Construction Value YTD	\$ 25,046,823.00
-------------------------------------	-------------------------

Community Development Department

Address/Location	Project Type	Information Update	CD
1322 and 1400 NE Jefferson Ave	Planning and Zoning Commission, Rezoning	Public Hearing on 07/06/17	1
3420 N University St	Planning and Zoning Commission, Rezoning	Public Hearing on 07/06/17	2
3014 N Prospect Rd	Historic Preservation Commission, C of A	Public Hearing on 06/28/17	3

Peoria City/County Health Department

Address/Location	Business Name	Information Update	CD
301 MacArthur Hwy	Moja	Plan Review Approved	1
2010 W Forrest Hill Ave	Dollar General Store #17924	Plan Review Not Approved as Submitted	2
N/A	Qdoba Mobile Food Unit	Plan Review Not Approved as Submitted	-
N/A	Snowie Mobile Food Unit	Plan Review Approved	-

	Council District 1	Council Districts 2 and 3	Council Districts 4 and 5	Mile and ½
Planning Inspector	Kimberly Smith	Shannon Techie	Leah Allison	Josh Naven
Phone	494-8612	494-8649	494-8667	494-8657
E-mail	ksmith@peoriagov.org	stechie@peoriagov.org	lallison@peoriagov.org	jnaven@peoriagov.org
Building Inspector	Scot Wolf	Roberto Medina	Bill Dodd	
Phone	494-8628	494-8623	494-8653	
E-mail	swolf@peoriagov.org	rmedina@peoriagov.org	wdodd@peoriagov.org	
			Chris Frank	
			494-8633	
			cfrank@peoriagov.org	
			Dan Moran	
			494-8629	
			dmoran@peoriagov.org	

Emergency Communications Center



Monthly Report May 2017

Peoria
9-1-1

CITY OF PEORIA
EMERGENCY COMMUNICATIONS CENTER 2017 ANNUAL REPORT

	JAN	FEB	MAR	APR	MAY	JUN	JUL	AUG	SEP	OCT	NOV	DEC	TOTAL	2016 Totals
Landbased 9-1-1 Calls	2,063	2,152	2,070	2,189	2,211								10,685	26,107
Wireless 9-1-1 Calls	6,241	5,981	6,519	7,047	7,661								33,449	89,797
Text To 9-1-1 Calls	30	36	12	21	20								119	
TOTAL 9-1-1 CALLS	8,334	8,169	8,601	9,257	9,892	0	0	0	0	0	0	0	44,253	115,904
Peoria Police Incoming Calls	6,994	6,538	7,745	8,467	9,253								38,997	98,234
Sheriff's Police Incoming Calls	2,161	1,929	2,187	2,487	2,859								11,623	30,831
TOTAL POLICE INCOMING CALLS	9,155	8,467	9,932	10,954	12,112	0	0	0	0	0	0	0	50,620	129,065
Volunteer Fire/EMS toll free calls	17	27	39	32	20								135	275
Peoria Fire Incoming Calls	457	445	496	566	590								2,554	7,563
TOTAL FIRE INCOMING CALLS	474	472	535	598	610	0	0	0	0	0	0	0	2,689	7,838
Operator Assist Calls/Alarm Calls	892	734	877	878	948								4,329	11,261
Ambulance Incoming Calls	281	245	237	255	242								1,260	3,157
ECC Supervisor Incoming Calls	601	593	602	614	640								3,050	8,488
Richwoods Dispatcher Incoming Calls	52	50	67	43	73								285	802
Downtown Dispatcher Incoming Calls	42	35	40	37	50								204	548
Prep 2 Dispatcher Incoming Calls	557	535	679	658	717								3,146	7,473
C-MED Dispatcher Incoming Calls	32	39	41	38	35								185	388
County Sheriff Dispatcher Incoming Calls	29	32	46	48	40								195	540
Fire Dispatcher Incoming Calls	57	52	67	74	65								315	898
OverFlow Dispatcher Incoming Calls	9	4	5	9	6								33	186
Call Taker Incoming Calls	1	0	9	1	0								11	22
TOTAL INCOMING EXTENSION CALLS	1,380	1,340	1,556	1,522	1,626	0	0	0	0	0	0	0	7,424	19,345
TOTAL OUTGOING EXTENSION CALLS	5,089	4,543	4,811	5,222	5,495								25,160	65,548
Peoria Police Dispatches/On view	7,370	7,233	7,986	8,910	9,742								41,241	100,541
Peoria County Sheriff Dispatches/On view	2,501	2,322	2,318	2,347	2,498								11,986	30,470
TOTAL POLICE DISPATCHES/ON VIEW	9,871	9,555	10,304	11,257	12,240	0	0	0	0	0	0	0	53,227	131,011
Air National Guard Fire Dispatches	2	5	6	5	5								23	44
Akron-Princeville Fire Dispatches	18	16	21	22	17								94	228
Brimfield Fire Dispatches	32	31	34	34	42								173	412
Dunlap Fire Dispatches	28	35	25	26	37								151	409
Elmwood Fire Dispatches	11	14	13	8	9								55	123
Limestone Fire Dispatches	139	98	101	119	122								579	1,383
Logan-Trivoli Fire Dispatches	28	31	52	32	35								178	391
Peoria Fire Dispatches	1,630	1,497	1,518	1,578	1,618								7,841	19,736
Timber-Hollis Fire Dispatches	29	28	19	15	41								132	307
Tuscarora Fire Dispatches	1	3	7	5	8								24	37
West Peoria Fire Dispatches	52	39	41	55	56								243	546
MABAS Fire Calls	0	3	8	7	8								26	30
TOTAL FIRE DISPATCHES	1,970	1,800	1,845	1,906	1,998	0	0	0	0	0	0	0	9,519	23,646
AMT Ambulance Dispatches	1,336	1,317	1,374	1,435	1,404								6,866	15,094
APA Ambulance Dispatches	15	11	13	17	10								66	195
BYE Ambulance Dispatches	51	38	50	46	43								228	541
TOTAL AMBULANCE DISPATCHES	1,402	1,366	1,437	1,498	1,457	0	0	0	0	0	0	0	7,160	14,682
Peoria County Coroner Incoming Calls	217	222	240	201	209								1,089	2,158
Community Messaging System Call-outs	12	15	17	10	37								91	185
Telephone Trouble Reports Completed	3	0	0	0	1								4	4
ETSB Equipment Trouble Reported	3	1	2	2	3								11	38
Citizen Concerns	1	0	0	1	2								4	12
CD Requests from State's Attorney's Office	9	30	15	25	17								96	138
CD Requests from FOI / Subpoena	1	0	0	3	2								6	57
CD Requests from Inner Departmental	8	7	15	4	4								38	63
Total Number of CD Requests	18	37	30	32	23	0	0	0	0	0	0	0	140	258
ILEAS Call Outs	0	0	0	0	0								0	1
JULIE Dig	53	31	37	53	38								212	542

Yearly Summary

	Number of Calls	Dispatch Response Time	Police Response Time	Total Time	
PEORIA POLICE					
Urgent	13442.3	1.96	4.00	6.15	
Routine	13062	22.28	6.16	28.44	
Backlog	729	34.95	7.38	42.33	
PEORIA COUNTY SHERIFF					
Urgent	2074	2.44	7.34	9.77	
Routine	2144	12.13	8.79	20.93	
Backlog	95	84.20	14.30	98.50	
	Number of Calls	Dispatch Response Time	Fire Response Time	Total Time	Average Turnout Time
PEORIA FIRE	7784	0.86	4.22	5.10	1.42

City of Peoria
Emergency Communications Center

Police Department
Urgent Calls for Service
By Police District

	Police District	VALLEY						BLUFF			RICHWOODS						Total Calls	Total Minutes	Calls	Average		
		1	2	4	5	6	8	12	3	10	11	13	14	15	16	17					18	19
January 2017	Number of Calls	93	126	331	180	51	216	82	113	336	231	181	88	63	216	6	106	126	2545			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	1.9	1.4	2.0	1.2	2.0	2.9	1.8	1.9	2.2	1.9	1.6	2.0	2.8	2.5	0.5	1.1	1.5	4990.5	2545	1.96	
	Police Response Time	2.8	3.9	3.4	3.3	3.0	3.4	4.1	3.8	3.3	3.4	4.4	5.1	5.0	6.3	12.2	4.2	6.3	10251.6	2545	4.03	
	Total time	4.7	5.3	5.4	4.5	5.0	6.3	5.9	5.7	5.5	5.3	6.0	7.1	7.8	8.8	12.7	5.3	7.8	15242.1	2545	5.99	
February 2017	Number of Calls	75	123	300	168	53	166	80	13	293	199	201	78	57	179	8	90	112	2183.3			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	2.5	2.1	1.9	1.5	1.4	1.5	1.5	1.2	3.1	2.2	2.3	2.9	2.0	2.0	5.8	1.3	1.7	4573.0	2183.3	2.09	
	Police Response Time	2.3	3.6	3.2	3.0	3.0	3.6	4.6	3.7	3.5	4.0	4.6	4.7	5.0	5.8	10.9	4.2	6.6	8849.0	2183.3	4.05	
	Total time	4.8	5.7	5.1	4.5	4.4	5.1	6.1	4.9	6.6	6.2	6.9	7.6	7.0	7.8	16.7	5.5	8.3	13422.0	2183.3	6.15	
March 2017	Number of Calls	136	151	352	204	57	184	83	128	331	234	193	86	64	192	17	115	119	2646			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	1.9	2.0	2.8	1.6	1.6	1.4	3.5	1.7	2.5	2.5	1.9	1.4	1.3	2.4	2.0	1.5	2.2	5641.2	2646	2.13	
	Police Response Time	2.5	3.6	3.6	3.2	3.0	3.3	4.4	3.5	3.7	4.0	4.6	4.1	1.9	5.5	9.9	4.1	6.5	10387.0	2646	3.93	
	Total time	4.4	5.6	6.4	4.8	4.6	4.7	7.9	5.2	6.2	6.5	6.5	5.5	3.2	7.9	11.9	5.6	8.7	16028.2	2646	6.06	
April 2017	Number of Calls	126	125	423	189	60	208	108	139	407	277	223	87	88	213	14	116	115	2918			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	1.2	2.3	1.5	3.1	4.5	1.5	3.8	1.8	1.9	2.1	1.8	1.1	2.8	2.1	2.3	2.6	2.0	6011.3	2918	2.06	
	Police Response Time	2.7	3.7	3.4	3.3	3.4	3.1	5.1	3.6	3.2	3.8	4.8	4.2	5.1	5.7	9.7	4.6	6.4	11623.7	2918	3.98	
	Total time	3.9	6.0	4.9	6.4	7.9	4.6	8.9	5.4	5.1	5.9	6.6	5.3	7.9	7.8	12.0	7.2	8.4	17635.0	2918	6.04	
May 2017	Number of Calls	136	150	452	256	75	190	143	139	436	288	229	102	87	216	6	107	138	3150			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	1.8	2.1	2.5	2.7	1.6	3.3	6.2	3.0	2.0	2.4	2.0	3.1	2.5	2.0	1.6	1.9	2.5	7976.4	3150	2.53	
	Police Response Time	2.9	3.6	3.4	3.2	2.8	3.5	4.1	3.4	3.4	3.9	4.6	5.8	4.7	6.2	12.2	4.0	6.4	12607.4	3150	4.00	
	Total time	4.7	5.7	5.9	5.9	4.4	6.8	10.3	6.4	5.4	6.3	6.6	8.9	7.2	8.2	13.8	5.9	8.9	20583.8	3150	6.53	
YEAR TO DATE TOTALS AND AVERAGES																						
	Total Number of Calls																	13442.3				
	Total Number of Exceptions																	0.0				
	Average Dispatch Response Time																	1.96				
	Average Police Response Time																	4.00				
	Average Total Time																	6.15				

City of Peoria
Emergency Communications Center

Police Department
Routine Calls for Service
By Police District

	VALLEY								BLUFF			RICHWOODS							Total Calls	Total Minutes	Calls	Average
	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19				
January 2017	Number of Calls	72	150	267	121	82	113	107	99	255	205	178	88	107	217	3	108	102	2274			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	26.0	18.8	14.6	20.0	18.8	16.3	25.6	24.4	23.0	22.9	20.8	14.8	16.4	20.0	5.0	14.1	19.8	44765.0	2274	19.69	
	Police Response Time	6.1	6.8	4.9	4.2	5.1	5.7	7.4	6.2	5.4	6.6	7.0	8.0	6.5	9.1	11.7	8.1	8.9	14911.5	2274	6.56	
	Total time	32.1	25.6	19.5	24.2	23.9	22.0	33.0	30.6	28.4	29.5	27.8	22.8	22.9	29.1	16.7	22.2	28.7	59676.5	2274	26.24	
February 2017	Number of Calls	71	142	223	104	84	109	96	1.4	297	243	163	83	67	179	7	117	99	2085.4			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	16.9	20.6	15.6	21.6	18.8	22.1	19.9	12.0	29.3	25.8	16.9	13.8	11.9	18.1	17.3	14.6	9.9	41483.8	2085.4	19.89	
	Police Response Time	5.0	6.1	5.1	5.0	5.5	5.8	5.7	5.4	5.3	5.3	6.6	6.8	6.7	8.6	10.0	7.1	8.4	12750.3	2085.4	6.11	
	Total time	21.9	26.7	20.7	26.6	24.3	27.9	25.6	17.4	34.6	31.1	23.5	20.6	18.6	26.7	27.3	21.7	18.3	54234.1	2085.4	26.01	
March 2017	Number of Calls	96	218	255	159	94	131	100	125	284	228	197	129	110	195	9	134	120	2584			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	20.1	23.9	15.8	24.7	21.2	19.5	19.2	16.5	26.3	22.4	16.4	17.9	16.2	21.9	30.5	19.3	18.1	52827.4	2584	20.44	
	Police Response Time	4.2	7.6	5.8	4.3	6.1	5.1	7.1	6.2	4.9	5.5	6.8	8.2	7.0	8.8	14.1	7.2	8.4	16577.9	2584	6.42	
	Total time	24.3	31.5	21.6	29.0	27.3	24.6	26.3	22.7	31.2	27.9	23.2	26.1	23.2	30.7	44.6	26.5	26.5	69405.3	2584	26.86	
April 2017	Number of Calls	74	189	312	149	105	154	123	130	382	297	202	120	99	204	6	149	147	2842			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	21.7	30.8	19.0	30.8	29.9	20.9	24.0	26.8	31.9	32.3	16.6	18.3	20.3	26.2	13.7	21.4	23.0	72072.7	2842	25.36	
	Police Response Time	4.3	5.6	5.2	4.4	6.4	5.6	6.0	5.4	5.0	5.8	6.0	6.5	6.6	8.1	12.0	5.8	8.7	16774.5	2842	5.90	
	Total time	26.0	36.4	24.2	35.2	36.3	30.0	32.2	36.9	38.1	22.6	24.8	26.9	34.3	25.7	27.2	31.7		88847.2	2842	31.26	
May 2017	Number of Calls	76	198	362	180	108	187	194	161	423	334	225	139	125	224	2	183	156	3277			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	25.3	25.4	21.6	29.1	25.6	23.4	28.4	25.2	34.8	30.0	19.4	27.0	20.3	24.3	1.0	21.2	24.6	85274.9	3277	26.02	
	Police Response Time	4.8	5.4	5.5	4.5	5.7	5.7	5.6	5.2	4.6	5.0	6.2	7.2	7.2	8.0	12.0	6.7	7.9	19026.2	3277	5.81	
	Total time	30.1	30.8	33.6	31.3	29.1	34.0	30.4	39.4	35.0	25.6	34.2	27.5	32.3	13.0	27.9	32.5		104301.1	3277	31.83	
YEAR TO DATE TOTALS AND AVERAGES																						
	Total Number of Calls																		13062			
	Total Number of Exceptions																		0			
	Average Dispatch Response Time																		22.28			
	Average Police Response Time																		6.16			
	Average Total Time																		28.44			

City of Peoria
Emergency Communications Center

Police Department
Backlog Calls for Service
By Police District

	VALLEY								BLUFF			RICHWOODS							Total Calls	Total Minutes	Calls	Average (total min/total calls)
	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19				
January 2017	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	125			
	Exceptions	2	31	7	8	2	5	7	6	12	11	8	5	5	8	0	3	5	0			
	Dispatch Response Time	112.5	21.8	9.2	49.6	67.0	46.2	10.3	23.7	29.9	54.6	52.5	16.4	33.4	67.9	0.0	18.3	36.8	4351.8	125	34.81	
	Police Response Time	4.0	9.3	6.7	7.3	3.0	7.2	6.3	7.6	5.1	5.5	4.0	3.6	8.5	10.0	9.5	0.0	18.3	919.0	125	7.35	
	Total time	116.5	31.1	15.9	56.9	70.0	53.4	16.6	31.3	35.0	60.1	56.5	20.0	41.9	77.9	9.5	18.3	55.1	5270.8	125	42.17	
February 2017	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	129			
	Exceptions	5	27	13	4	3	5	4	4	10	11	13	6	4	9	0	4	7	0			
	Dispatch Response Time	16.2	20.2	14.6	44.5	25.7	26.0	13.0	20.0	62.1	62.2	51.1	14.6	22.0	29.3	0.0	16.0	25.2	3982.5	129	30.87	
	Police Response Time	3.5	7.7	10.8	9.3	2.7	6.4	8.8	14.3	4.2	8.0	7.5	6.7	5.3	9.0	0.0	10.3	6.3	990.7	129	7.68	
	Total time	19.7	27.9	25.4	53.8	28.4	32.4	21.8	34.3	66.3	70.2	58.6	21.3	27.3	38.3	0.0	26.3	31.5	4973.2	129	38.55	
March 2017	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	126			
	Exceptions	2	24	14	5	3	6	2	12	19	15	7	3	3	7	1	1	2	0			
	Dispatch Response Time	33.5	22.5	22.4	68.4	11.7	12.2	39.5	14.0	46.4	32.0	64.0	17.0	22.0	37.6	29.0	6.0	13.0	3868.7	126	30.70	
	Police Response Time	3.0	10.5	3.7	17.0	9.7	6.0	4.5	5.4	6.6	8.5	7.0	6.7	5.0	5.1	0.0	11.0	8.0	933.4	126	7.41	
	Total time	36.5	33.0	26.1	85.4	21.4	18.2	44.0	19.4	53.0	40.5	71.0	23.7	27.0	42.7	29.0	17.0	21.0	4802.1	126	38.11	
April 2017	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	166			
	Exceptions	3	30	8	8	5	8	10	6	21	20	6	3	6	10	0	8	14	0			
	Dispatch Response Time	61.0	16.3	16.4	62.6	37.6	34.0	27.7	21.2	61.6	52.2	32.8	40.3	7.8	83.5	0.0	11.6	52.3	6530.3	166	39.34	
	Police Response Time	5.7	9.7	12.3	5.4	10.5	9.5	4.4	5.0	4.3	7.6	6.8	5.0	8.8	7.9	0.0	5.9	10.3	1273.5	166	7.67	
	Total time	66.7	26.0	28.7	68.0	48.1	43.5	32.1	26.2	65.9	59.8	39.6	45.3	16.6	91.4	0.0	17.5	62.6	7803.8	166	47.01	
May 2017	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	183			
	Exceptions	0	35	17	15	6	3	9	7	21	20	14	6	9	9	0	6	6	0			
	Dispatch Response Time	0.0	23.3	38.9	46.2	52.2	11.7	69.2	7.4	62.6	45.7	41.9	34.3	39.7	42.2	0.0	18.8	12.3	7137.4	183	39.00	
	Police Response Time	0.0	8.1	5.4	4.6	5.3	9.7	3.6	10.4	5.5	4.6	6.1	8.7	8.2	6.4	0.0	19.5	6.2	1241.1	183	6.78	
	Total time	0.0	31.4	44.3	50.8	57.5	21.4	72.8	17.8	68.1	50.3	48.0	43.0	47.9	48.6	0.0	38.3	18.5	8378.5	183	45.78	
YEAR TO DATE TOTALS AND AVERAGES																						
																Total Number of Calls	729					
																Total Number of Exceptions	0.0					
																Average Dispatch Response Time	34.95					
																Average Police Response Time	7.38					
																Average Total Time	42.33					

City of Peoria
Emergency Communications Center

Peoria Fire Department
Fire Calls for Service
By Fire Map

	Fire Map	VALLEY				BLUFF			RICHWOODS					Total Calls			
		100-199	200-299	400-499	1200-1299	300-399	1000-1099	1100-1199	1300-1399	1500-1599	1600-1699	1900-1999	2000-2099		(total min/total calls)	Average	
January 2017	Number of Calls	249	122	241	76	139	157	102	215	54	143	72	43	1613			
	Dispatch Response Time	0.6	0.5	0.5	0.3	0.7	0.9	0.7	0.7	0.6	0.6	2.0	1.1	1123.7	1613	0.70	
	Fire Response Time	3.5	3.9	4.2	5.4	3.6	4.7	4.4	4.2	5.0	4.6	6.0	5.7	6964.9	1613	4.32	
	Total time	4.1	4.4	4.7	5.7	4.3	5.6	5.1	4.9	5.6	5.2	8.0	6.8	8088.6	1613	5.01	
February 2017	Number of Calls	242	133	215	81	108	145	88	181	42	159	67	26	1487			
	Dispatch Response Time	0.8	1.0	0.6	0.3	0.9	0.7	2.1	0.8	1.2	0.7	0.5	0.2	1208.6	1487	0.81	
	Fire Response Time	3.3	3.9	3.8	5.3	3.9	4.5	4.3	4.4	5.0	4.6	5.8	5.7	6290.3	1487	4.23	
	Total time	4.1	4.9	4.4	5.6	4.8	5.2	6.4	5.2	6.2	5.3	6.3	5.9	7498.9	1487	5.04	
March 2017	Number of Calls	284	125	208	58	117	123	103	196	34	139	75	34	1496			
	Dispatch Response Time	1.1	0.8	1.2	0.3	0.8	1.3	1.0	0.5	0.8	0.7	1.3	0.6	1376.3	1496	0.92	
	Fire Response Time	3.4	4.0	4.0	4.9	4.0	4.2	4.1	4.2	4.9	4.6	5.3	6.6	6239.8	1496	4.17	
	Total time	4.5	4.8	5.2	5.2	4.8	5.5	5.1	4.7	5.7	5.3	6.6	7.2	7616.1	1496	5.09	
April 2017	Number of Calls	255	108	239	74	137	143	120	191	47	158	76	31	1579			
	Dispatch Response Time	0.5	1.1	0.7	0.5	0.7	1.9	1.3	0.9	0.8	0.8	0.5	0.4	1360.5	1579	0.86	
	Fire Response Time	3.4	3.9	3.9	5.5	3.8	4.2	4.0	4.4	4.9	4.6	6.2	5.1	6655.3	1579	4.21	
	Total time	3.9	5.0	4.6	6.0	4.5	6.1	5.3	5.3	5.7	5.4	6.7	5.5	8015.8	1579	5.08	
May 2017	Number of Calls	258	111	235	79	117	156	97	222	62	148	85	39	1609			
	Response Time	1.2	0.5	0.6	1.2	0.8	1.1	1.0	0.8	0.9	0.9	1.8	3.2	1607.5	1609	1.00	
	Time	3.4	4.2	3.9	5.2	4.1	4.5	4.1	4.3	4.7	4.5	5.9	5.2	6866.4	1609	4.27	
	Total time	4.6	4.7	4.5	6.4	4.9	5.6	5.1	5.1	5.6	5.4	7.7	8.4	8473.9	1609	5.27	
YEAR TO DATE TOTALS AND AVERAGES																	
									Total Number of Calls					7784			
									Average Dispatch Response Time					0.86			
									Average Fire Response Time					4.22			
									Average Total Time					5.10			

Peoria Fire Department
Average Turn-Out Time for Each Apparatus

	JAN	FEB	MAR	APR	MAY	JUN	JUL	AUG	SEP	OCT	NOV	DEC	Yearly Average
B1	1.5	1.4	1.4	1.4	1.4								1.42
E1	1.4	1.4	1.4	1.3	1.3								1.36
R1	1.5	1.4	1.3	1.4	1.3								1.38
T1	1.7	1.6	1.4	1.4	1.6								1.54
E10	1.4	1.4	1.4	1.3	1.3								1.36
E12	1.5	1.5	1.5	1.4	1.6								1.50
E13	1.3	1.3	1.3	1.2	1.2								1.26
T14	1.5	1.5	1.5	1.5	1.6								1.52
E15	1.5	1.6	1.6	1.6	1.5								1.56
E16	1.4	1.5	1.4	1.4	1.3								1.40
E19	1.5	1.5	1.4	1.5	1.5								1.48
E2	1.4	1.5	1.5	1.6	1.5								1.50
R2	1.5	1.3	1.4	1.3	1.3								1.36
E20	1.6	1.5	1.6	1.7	1.5								1.58
B3	1.4	1.4	1.5	1.4	1.5								1.44
E3	1.3	1.3	1.3	1.2	1.3								1.28
T3	1.3	1.5	1.3	1.3	1.5								1.38
E4	1.4	1.4	1.5	1.3	1.4								1.40
T4	1.3	1.6	1.1	1.2	1.1								1.26
												Department Average	1.42

City of Peoria
 Emergency Communications Center
 Peoria County Sheriff's Department
 Urgent calls for service by district

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls		
January 2017	Number of Calls	2	5	8	2	83	91	40	14	26	32	98		401		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	4.0	1.4	1.2	1.0	2.2	3.5	3.3	1.4	1.6	1.7	1.9		961.5	401	2.40
	Police Response Time	15.0	17.3	7.5	12.0	7.9	8.2	12.1	8.3	4.4	8.5	3.2		2902.6	401	7.24
	Total time	19.0	18.7	8.7	13.0	10.1	11.7	15.4	9.7	6.0	10.2	5.1		3864.1	401	9.64
February 2017	Number of Calls	5	5	4	2	91	76	48	13	17	37	102		400		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	4.3	5.8	1.7	1.0	2.7	3.8	2.2	1.9	1.3	1.6	2.7		1080.8	400	2.70
	Police Response Time	8.3	17.5	7.0	12.0	7.2	8.7	12.2	10.2	4.4	8.9	3.8		3007.3	400	7.52
	Total time	12.6	23.3	8.7	13.0	9.9	12.5	14.4	12.1	5.7	10.5	6.5		4088.1	400	10.22
March 2017	Number of Calls	5	6	7	0	80	89	35	11	22	29	80		364		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	2.8	4.8	0.8	0.0	1.8	2.5	2.2	0.4	2.6	2.2	1.2		713.3	364	1.96
	Police Response Time	0.0	14.8	5.4	0.0	8.1	8.6	12.6	11.4	3.7	8.6	3.6		2725.2	364	7.49
	Total time	2.8	19.6	6.2	0.0	9.9	11.1	14.8	11.8	6.3	10.8	4.8		3438.5	364	9.45
April 2017	Number of Calls	4	10	8	0	104	93	37	11	27	39	116		449		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	1.3	1.4	4.2		2.8	2.8	3.2	2.6	2.9	2.0	1.7		1104.9	449	2.46
	Police Response Time	6.0	14.0	6.3		7.6	6.9	12.6	11.7	3.6	7.5	3.6		3048.7	449	6.79
	Total time	7.3	15.4	10.5	0.0	10.4	9.7	15.8	14.3	6.5	9.5	5.3		4153.6	449	9.25
May 2017	Number of Calls	7	8	8	5	120	100	43	10	18	35	106		460		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	7.5	2.3	3.2	4.0	2.7	2.6	2.5	1.9	0.8	2.1	2.9		1222.3	460	2.66
	Police Response Time	3.7	18.7	5.9	14.8	7.8	8.2	12.6	10.1	4.1	9.3	4.0		3518.8	460	7.65
	Total time	11.2	21.0	9.1	18.8	10.5	10.8	15.1	12.0	4.9	11.4	6.9		4741.1	460	10.31
YEAR TO DATE TOTALS AND AVERAGES																
	Total Number of Calls												2074.0			
	Total Number of Exceptions												0			
	Average Dispatch Response Time												2.44			
	Average Police Response Time												7.34			
	Average Total Time												9.77			

City of Peoria
Emergency Communications Center
Peoria County Sheriff's Department
Routine calls by district

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls	Total Minutes	Calls	Average
		Number of Calls	Exceptions	Dispatch Response Time	Police Response Time	Total time											
January 2017	Number of Calls	58	6	5	4	114	148	31	8	23	42	106		545			(total min/total calls)
	Exceptions													0			
	Dispatch Response Time	10.9	9.3	4.3	26.3	15.1	10.0	10.0	5.5	23.8	11.5	9.7		6428.7	545	11.80	
	Police Response Time	4.7	21.8	7.0	12.0	9.7	8.3	15.2	13.9	5.0	13.9	4.9		4621.2	545	8.48	
	Total time	15.6	31.1	11.3	38.3	24.8	18.3	25.2	19.4	28.8	25.4	14.6		11049.9	545	20.28	
February 2017	Number of Calls	33	5	3	0	68	146	44	11	20	38	83		451			(total min/total calls)
	Exceptions													0			
	Dispatch Response Time	5.6	16.8	24.0	0.0	13.0	10.4	23.4	10.0	5.2	10.4	11.0		5295.0	451	11.74	
	Police Response Time	3.1	26.3	2.0	0.0	10.5	7.9	17.3	10.2	4.7	11.9	5.2		3958.4	451	8.78	
	Total time	8.7	43.1	26.0	0.0	23.5	18.3	40.7	20.2	9.9	22.3	16.2		9253.4	451	20.52	
March 2017	Number of Calls	38	7	8	2	84	176	42	11	29	35	92		524			(total min/total calls)
	Exceptions													0			
	Dispatch Response Time	17.9	10.3	23.7	5.5	13.3	10.6	7.0	5.0	7.4	9.4	7.5		5518.6	524	10.53	
	Police Response Time	1.9	17.0	6.6	15.5	11.4	8.9	16.9	7.3	4.6	9.2	4.5		4458.5	524	8.51	
	Total time	19.8	27.3	30.3	21.0	24.7	19.5	23.9	12.3	12.0	18.6	12.0		9977.1	524	19.04	
April 2017	Number of Calls	48	9	11	3	121	183	52	13	34	35	115		624			(total min/total calls)
	Exceptions													0			
	Dispatch Response Time	10.0	2.9	13.1	13.0	15.2	12.3	11.9	8.6	9.7	13.8	10.6		7541.7	624	12.09	
	Police Response Time	4.1	13.3	12.1	15.5	10.4	8.1	12.3	10.8	5.8	11.0	5.4		5220.0	624	8.37	
	Total time	14.1	16.2	25.2	28.5	25.6	20.4	24.2	19.4	15.5	24.8	16.0		12761.7	624	20.45	
May 2017	Number of Calls	46	8	12	6	139	201	70	11	51	68	120		732			(total min/total calls)
	Exceptions													0			
	Dispatch Response Time	9.3	20.5	6.0	45.8	19.1	14.5	13.7	16.8	8.4	15.6	12.4		10629.0	732	14.52	
	Police Response Time	5.8	19.0	7.8	20.3	10.2	10.2	17.4	14.5	6.7	11.2	5.1		7195.0	732	9.83	
	Total time	15.1	39.5	13.8	66.1	29.3	24.7	31.1	31.3	15.1	26.8	17.5		17824.0	732	24.35	
YEAR TO DATE TOTALS AND AVERAGES																	
	Total Number of Calls												2144.0				
	Total Number of Exceptions												0				
	Average Dispatch Response Time												12.13				
	Average Police Response Time												8.79				
	Average Total Time												20.93				

City of Peoria
 Emergency Communications Center
 Peoria County Sheriff's Department
 Backlog Calls for Service by District

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls		
January 2017	Number of Calls	13	0	1	0	5	7	2	0	0	4	2		34		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	280.6	0.0	1.0	0.0	34.2	8.0	5.0	0.0	0.0	15.5	2.0		3951.8	34	116.2
	Police Response Time	24.3	0.0	7.0	0.0	17.3	8.8	29.0	0.0	0.0	18.7	1.0		605.8	34	17.8
	Total time	304.9	0.0	8.0	0.0	51.5	16.8	34.0	0.0	0.0	34.2	3.0	0.0	4557.6	34	134.0
February 2017	Number of Calls	7	0	0	0	2	8	3	1	0	0	2		23		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	346.1	0.0	0.0	0.0	20.0	12.8	15.3	4.0	0.0	0.0	23.5		2662.0	23	115.7
	Police Response Time	21.6	0.0	0.0	0.0	25.0	9.0	20.7	11.0	0.0	0.0	5.5		357.3	23	15.5
	Total time	367.7	0.0	0.0	0.0	45.0	21.8	36.0	15.0	0.0	0.0	29.0	0.0	3019.3	23	131.3
March 2017	Number of Calls	11	1	0	0	6	7	3	1	1	2	6		38		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	198.0	115.0	0.0	0.0	13.5	30.3	17.0	9.0	33.0	1.0	3.7		2703.3	38	71.1
	Police Response Time	15.4	24.0	0.0	0.0	15.8	7.5	16.3	21.0	8.0	9.0	4.8		465.4	38	12.2
	Total time	213.4	139.0	0.0	0.0	29.3	37.8	33.3	30.0	41.0	10.0	8.5	0.0	3168.7	38	83.4
April 2017	Number of Calls	8	1	3	0	5	14	3	0	2	4	2		42		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	282.1	20.0	19.7	0.0	12.6	26.6	7.0	0.0	28.0	12.5	46.0		2990.3	42	71.2
	Police Response Time	16.1	2.0	12.0	0.0	20.3	13.9	11.0	0.0	11.5	18.0	5.5		601.9	42	14.3
	Total time	298.2	22.0	31.7	0.0	32.9	40.5	18.0	0.0	39.5	30.5	51.5	0.0	3592.2	42	85.5
May 2017	Number of Calls	10	0	3	0	17	13	4	0	7	6	7		67		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	211.7	0.0	29.3	0.0	19.1	17.0	3.3	0.0	28.0	12.3	13.4		3127.4	67	46.7
	Police Response Time	26.9	0.0	0.3	0.0	12.0	9.0	14.3	0.0	5.0	8.6	5.7		774.6	67	11.6
	Total time	238.6	0.0	29.6	0.0	31.1	26.0	17.6	0.0	33.0	20.9	19.1	0.0	3902.0	67	58.2
YEAR TO DATE TOTALS AND AVERAGES																
												Total Number of Calls	95			
												Total Number of Exceptions	0.0			
												Average Dispatch Response Time	84.20			
												Average Police Response Time	14.30			
												Average Total Time	98.50			

			HOUSING COURT 6/13/17	53 CASES				
BD	C	09:00 AM	GRAND GROUP LLC	HC-17-500	BRANDYWINE 4400	13-Jun-17	FIRST APPEARANCE	
BD	NO	09:00 AM	DEMANES, LOIS	HC-17-453	NEBRASKA 119 E	13-Jun-17	REVIEW	

CF	O	09:00 AM	COATS KRISTA	HC-17-510	INDIANA 1825 N	13-Jun-17	FIRST APPEARANCE	
DAN	NO	09:00 AM	CHRIS RENNER PROPERTIES INC	HC-16-1417	HANSSLER 2612 N	13-Jun-17	REVIEW	
DG	NO	09:00 AM	BANK	HC-17-238	ARBER 5311	13-Jun-17	FIRST APPEARANCE	
DG	NO	09:00 AM	LINSLEY DOUG/JACQUELYN	HC-17-034	BIGELOW 2417	13-Jun-17	REVIEW	
DG	O	09:00 AM	POWERS, BETTY & JEROME	HC-17-270	BROOKSIDE 3319 W	13-Jun-17	REVIEW	
DG	O	09:00 AM	CLEMONS, LEVORNE	HC-16-1243	CORRINGTON 0512 W	13-Jun-17	REVIEW	
DG	O	09:00 AM	HURT MICHAEL	HC-17-248	HILLMONT 4044	13-Jun-17	REVIEW	
DG	NO	09:00 AM	SCHAUT, BRENDA/ JASON	HC-16-1144	ILLINOIS 0415 E	13-Jun-17	REVIEW	
DG	NO	09:00 AM	CONSOLIDATED PROPERTIES LLC	HC-17-498	MOSS 1121 W	13-Jun-17	FIRST APPEARANCE	
DG	O	09:00 AM	REEDY JOHN	HC-15-740	MOSS 1613	13-Jun-17	REVIEW/DEFAULT PEND \$1000	
DG	O	09:00 AM	BUNN, CHRISTOPHER & JENNIFER	HC-16-1480	NORTH CIRCLE 2114 W	13-Jun-17	REVIEW	
DG	O	09:00 AM	ESPENSCHIED COLE/KRISTI	HC-17-501	ORNAGE 1110 N	13-Jun-17	FIRST APPEARANCE	
DG	O	09:00 AM	AUSTRIA ARLENE/KYRA	HC-16-1500	RONALD 4922	13-Jun-17	REVIEW	
DG	NO	09:00 AM	ANDRADA WILMER	HC-17-507	RUSSELL 0717 W	13-Jun-17	FIRST APPEARANCE	
DG	NO	09:00 AM	ANDRADA WILMER	HC-17-506	RUSSELL 0719 W	13-Jun-17	FIRST APPEARANCE	
DG	O	09:00 AM	BUSH SYLVESTER	HC-17-508	RUSSELL 0803 W	13-Jun-17	FIRST APPEARANCE	
GW	O	09:00 AM	JOHNSON, DAVID	HC-17-089	BUTLER 1705 W	13-Jun-17	REVIEW	
JM	C	09:00 AM	C5 PROPERTIES LLC	HC-17-497	ADAMS 1212 NE	13-Jun-17	FIRST APPEARANCE	
LA	NO	09:00 AM	GILKESSON, FLORENCE	HC-16-1637	ADRIAN G HINTON 917 W	13-Jun-17	REVIEW	
LA	NO	09:00 AM	ESTRADA FERNANDO	HC-17-499	ARAGO 1710 S	13-Jun-17	FIRST APPEARANCE	
LA	NO	09:00 AM	FRANZEN HAROLD/MARY	HC-17-212	GRISWOLD 1608	13-Jun-17	REVIEW	
LA	NO	09:00 AM	RANDLE JOAN	HC-16-1610	JOHN H GWYNN JR 1418	13-Jun-17	REVIEW/VAC DEFAULT \$500	
LA	NO	09:00 AM	SMITH GREG	HC-17-495	KRAUSE 3012 W	13-Jun-17	FIRST APPEARANCE	
LA	NO	09:00 AM	PIONEER CIVIC SERVICES	HC-17-494	LIVINGSTON 1409	13-Jun-17	FIRST APPEARANCE	
LA	NO	09:00 AM	GRAY, JAMES JR.	HC-17-161	MARTIN 1319 W	13-Jun-17	REVIEW	
LA	O	09:00 AM	CRISS ROBBIE	HC-17-197	MARTIN 1828	13-Jun-17	REVIEW	
LA	O	09:00 AM	HARRIS, MARK	HC-16-1498	SHELLEY 929 S	13-Jun-17	REVIEW	
LE	O	09:00 AM	HOULIHAN, DIANE	HC-17-445	CALIFORNIA 2801 N	13-Jun-17	REVIEW	
LE	NO	09:00 AM	RIEKENA, JANICE	HC-17-442	FORREST HILL 612 E	13-Jun-17	REVIEW	
LE	NO	09:00 AM	CONSOLIDATED PROPERTIES LLC	HC-17-360	NEBRASKA 1000 E	13-Jun-17	REVIEW	
LE	NO	09:00 AM	MAJORS, RICHARD & SHARON	HC-17-359	NEBRASKA 1002 E	13-Jun-17	REVIEW	
LE	O	09:00 AM	HENRY VANESSA	HC-17-509	PROSPECT 1801	13-Jun-17	FIRST APPEARANCE	
LE	O	09:00 AM	NAVARRO/CONTRERAS+D894	HC-17-449	PROSPECT 1811 N	13-Jun-17	REVIEW	

MB	NO	09:00 AM	QUAD CITY CONSOLIDATED	HC-17-051	BUTLER 1533	13-Jun-17	REVIEW	
MB	NO	09:00 AM	NORRIS CHRIS/RICKY	HC-17-511	CORNHILL 0512	13-Jun-17	FIRST APPEARANCE	
MB	NO	09:00 AM	GARCIA LILY	HC-17-099	FOWLER 0116	13-Jun-17	REVIEW	
MB	NO	09:00 AM	BAILEY SCOTT	HC-17-259	JEFFERSON 1707 NE	13-Jun-17	REVIEW	
MB	NO	09:00 AM	IMMEDIATE REALTY	HC-17-260	MONROE 0405 NE	13-Jun-17	REVIEW	
MB	NO	09:00 AM	GUTIERREZ, JORGE	HC-16-1598	PERRY 1111 NE	13-Jun-17	REVIEW	
NR	NO	09:00 AM	SCHUMACHER LLOYD	HC-16-1389	BIGELOW 1302	13-Jun-17	REVIEW	
NR	NO	09:00 AM	WEBER, GARY	HC-17-365	FRYE 0527 E	13-Jun-17	REVIEW	
NR	NO	9:00 AM	MARTINEZ, ANA & LEONARDO	HC-16-1372	LASALLE 0716 E	13-Jun-17	REVIEW	
PM	O	09:00 AM	CAHO MARJORIE	HC-17-502	BROADWAY 1719 N	13-Jun-17	FIRST APPEARANCE	
PM	NO	09:00 AM	SIMMONS, HAROLD	HC-17-020	BRONS 0911 W	13-Jun-17	REVIEW	
PM	O	09:00 AM	ENRIQUEZ, ROGELIO	HC-17-353	ELMWOOD 2300 N	13-Jun-17	TO POST	
PM	O	09:00 AM	REBHOLZ, STEVEN & MERRY	HC-16-1419	FORREST HILL 2121 W	13-Jun-17	REVIEW	
PM	NO	09:00 AM	MOONEY MICHAEL	HC-17-503	HAMILTON 2021	13-Jun-17	FIRST APPEARANCE	
PM	O	09:00 AM	RANDLE MARY	HC-17-230	MCCLURE 0716 W	13-Jun-17	REVIEW	
RM	NO	09:00 AM	ROSA, ROBERT & BARBARA	HC-17-424	ADAMS 2221 2223 SW	13-Jun-17	REVIEW	
RM	C	09:00 AM	DANZ, WARREN	HC-17-505	JEFFERSON/WAYNE	13-Jun-17	FIRST APPEARANCE	
SCA	NU	09:00 AM	EAKLE JOHN	HC-17-554	CALIFORNIA 1613	13-Jun-17	FIRST APPEARANCE	
SCA	NO	09:00 AM	EQUITY TRUST COMPANY	HC-17-282	COLUMBIA 517 W	13-Jun-17	REHEARING/DEFAULT \$16,800	